EARAROBEEIERT — 2 N— IBISH —F

20185F3A13H (X) 18E=FI5H

m TJ7A4FILL—X B H¥5%—#% ‘ [X1&] W ‘ [seEmsfi]  — | &4 (/) 16000 =
[AE4£] 1 7% :500,000 ™ ~ 23#&:125,000  ~ 3#&:75000 M ~ 43#%:50,000H” . 53&:25,000 M
B\ BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o = N > MEHEK 147, 76— . — AFEZ (FH)
15l 5| EXINTE- > 5 A 1(4_7)8 6-7-6-2 | 40.1 6 zzg; A
R:O—JXA2A4 B:I7aEy b HET77— L
=g o7 | KFAE 1:47.9 4-4-4-3 | 40.7| — 1 496 | HEEX (SH)
2lglg| 7> KRE— 56.0 (1/2) (3) | PEE—
R4 XS ML BixS a9y =Eiie
: . t 7 | ER=ER 1:48.6 2-2-1-4 | 41.6| — 2 512 | NIBEE (&)
3l7/7| FU—LEZX g 56.0 3) o |EimE
L KUTYRAIR BNACT54 b b
A EFE . 55 — EiEESE (BH)
AN 4| hovT/ # 6 | THE 1.(429).0 5-5-5-5 | 41.4 7 :_571) gz
RiH XA HE -y BiFvIAL BHIT7— L
4 5 | BIIIEGA 1:49.0 3-3-3-1 |41.9| — 4 465 | AARREEEY ()
5111 | b/ F—5— 54.0 (757 O | B
L:whhvzry Bieb/ 142K AR R
. 5 \LIFEE % 149. —8-8- . - ABEEH (BH)
s Y 6 R —LxAdFv— 11 ot 1(429)4 6-8-8-6 |41.5 3 (4_616) E;ﬂ%—
R:A—Y XA x14 B:uFbryoay st Fk
. — t 6 | LEFEE 1:50.3 1-1-2-7 | 43.3| — 5 444 | EEEE (BH)
vd > PIRAR NN et g 56.0 ) 3) | (B J PN
R:hTAZ2T B:X7kX e ]
Sspo BHRER : 67— - WMAREE) (BH)
N . B H 5 R 1.(561).6 6-6-7-8 | 43.6 8 51_739) é%mﬁ
R:2F4T—V K B:OIvLI7>89— HET7—L
® I —F—@EBIERL
13=zr= 2,7,1,8,4,(3,5,6)
Aol=5r= 2,7,1,8,4,3,5,6
G§a=7r= 7,2,1,8,4,5,3,6
43—+ — 1,5,8,7,4,6,2,3
[ RN
B OB 5 1,740H 714K 5-8 700M B E 5-8 2,720 &R 5-7-8 2,250
8 B 5 300F9 =1/ 780M B H 5-8 7,230 JEH 5-8-7 23,250
8 130M 7-8 190M
7 130H4

ABICOVWTRDTEEERROODE. TR LIV,




